

Contents lists available at [SciVerse ScienceDirect](http://SciVerse.ScienceDirect.com)

Applied Mathematics Letters

journal homepage: www.elsevier.com/locate/aml

On certain subclasses of meromorphic functions associated with certain differential operators

E.A. Elrifai, H.E. Darwish*, A.R. Ahmed

Department of Mathematics, Faculty of Science, University of Mansoura, Mansoura, Egypt

ARTICLE INFO

Article history:

Received 23 May 2011

Accepted 10 November 2011

Keywords:

Analytic

Meromorphic functions

Differential operator

Convolution

ABSTRACT

In this work, we study some subordination and convolution properties of certain subclasses of meromorphic functions which are defined by a previously mentioned differential operator.

Crown Copyright © 2011 Published by Elsevier Ltd. All rights reserved.

1. Introduction

Let Σ denote the class of functions of the form

$$f(z) = \frac{1}{z} + \sum_{k=1}^{\infty} a_k z^k \quad (1.1)$$

which are analytic in the punctured unit disk $U^* := \{z : 0 < |z| < 1\} = U \setminus \{0\}$, with a simple pole at the origin.

If $f(z)$ and $g(z)$ are analytic in U , we say that $f(z)$ is subordinate to $g(z)$, written $f \prec g$ or $f(z) \prec g(z)$ ($z \in U$), if there exists a Schwarz function $w(z)$ in U with $w(0) = 0$ and $|w(z)| < 1$ ($z \in U$), such that $f(z) = g(w(z))$ ($z \in U$). If $g(z)$ is univalent in U , then the following equivalence relationship holds true:

$$f(z) \prec g(z) \quad (z \in U) \iff f(0) = g(0) \quad \text{and} \quad f(U) \subset g(U).$$

For functions $f(z) \in \Sigma$ given by (1.1) and $g(z) \in \Sigma$ defined by

$$g(z) = \frac{1}{z} + \sum_{k=1}^{\infty} a_k z^k, \quad (1.2)$$

the Hadamard product (or convolution) of $f(z)$ and $g(z)$ is given by

$$(f * g)(z) := \frac{1}{z} + \sum_{k=1}^{\infty} a_k b_k z^k =: (g * f)(z). \quad (1.3)$$

* Corresponding author.

E-mail addresses: Rifai@mans.edu.eg (E.A. Elrifai), Darwish333@yahoo.com (H.E. Darwish), Abdusalam5056@yahoo.com (A.R. Ahmed).

In analogy with the operator defined by Frasin and Darus [1] on the normalized analytic functions, the differential operator I^n is now defined as follows:

$$I^0f(z) = f(z),$$

$$I^1f(z) = zf'(z) + \frac{2}{z},$$

$$I^2f(z) = z(I^1f(z))' + \frac{2}{z},$$

and for $n = 1, 2, 3, \dots$,

$$I^n f(z) = z(I^{n-1}f(z))' + \frac{2}{z}$$

$$= \frac{1}{z} + \sum_{k=1}^{\infty} k^n a_k z^k. \quad (n \in N_0). \tag{1.4}$$

The operator I^n was introduced by Frasin and Darus [1] and studied by El-Ashwah and Aouf [2].

Now, we introduce the following subclasses of Σ associated with the differential operator $I^n f(z)$.

Definition 1. For fixed parameters A, B ($-1 \leq B < A \leq 1$), a function $f(z) \in \Sigma$ is said to be in the class $\Sigma_n(\lambda, A, B)$ if

$$-z^2 \left\{ (1 + \lambda)(I^n f(z))' + \lambda(I^{n+1}f(z))' \right\} < 2\lambda + \frac{1 + Az}{1 + Bz} \quad (z \in U), \tag{1.5}$$

where $n \in N$ and $\lambda \geq 0$.

In this work, we derive some subordination results for the class $\Sigma_n(\lambda, A, B)$ and investigate several convolution properties of functions which have been defined here by means of the differential operator $I^n f(z)$.

2. Preliminaries

To prove our main result, we need the following lemmas.

Lemma 1 ([3]; see also [4]). Let $\phi(z)$ be analytic in U and $h(z)$ be analytic and convex (univalent) in U with $h(0) = \phi(0) = 1$. If

$$\phi(z) + \frac{z\phi'(z)}{\gamma} < h(z) \quad (\text{Re}(\gamma) \geq 0; \gamma \neq 0; z \in U), \tag{2.1}$$

then

$$\phi(z) < \Psi(z) = \gamma z^{-\gamma} \int_0^z t^{\gamma-1} h(t) dt < h(z) \quad (z \in U),$$

and $\Psi(z)$ is the best dominant of (2.1).

We denote by $P(\gamma)$ the class of functions $\phi(z)$ given by

$$\phi(z) = 1 + b_1 z + b_2 z^2 + \dots, \tag{2.2}$$

which are analytic in U and satisfy the following inequality:

$$\text{Re}(\phi(z)) > \gamma \quad (0 \leq \gamma < 1, z \in U).$$

Lemma 2 ([5]). Let the function $\phi(z)$ given by (2.2) be in the class $P(0)$. Then

$$\text{Re}(\phi(z)) \geq \frac{1 - |z|}{1 + |z|} \quad (z \in U).$$

Lemma 3 ([6]). If $\phi_j \in P(\gamma_j)$ ($0 \leq \gamma_j < 1; j = 1, 2$), then $\phi_1 * \phi_2 \in P(\gamma_3)$, $\gamma_3 = 1 - 2(1 - \gamma_1)(1 - \gamma_2)$. The result is best possible.

Lemma 4 ([7]). For real or complex numbers a, b and c ($c \neq 0, -1, -2, \dots$),

$$\int_0^1 t^{b-1} (1-t)^{c-b-1} (1-zt)^{-a} dt = \frac{\Gamma(b)\Gamma(c-b)}{\Gamma(c)} {}_2F_1(a, b, c; z) \quad (\text{Re}(c) > \text{Re}(b) > 0); \tag{2.3}$$

$${}_2F_1(a, b, c; z) = (1-z)^{-a} {}_2F_1\left(a, c-b; c; \frac{z}{z-1}\right), \tag{2.4}$$

and

$${}_2F_1\left(a, b; \frac{a+b+1}{2}; \frac{1}{2}\right) = \frac{\sqrt{\pi}\Gamma\left(\frac{a+b+1}{2}\right)}{\Gamma\left(\frac{a+1}{2}\right)\Gamma\left(\frac{b+1}{2}\right)}. \tag{2.5}$$

3. The main results

Unless otherwise mentioned, we assume throughout this work that

$$n \in \mathbb{N}, \lambda > 0 \quad \text{and} \quad -1 \leq B < A \leq 1.$$

Theorem 1. Let $f(z)$ defined by (1.1) be in the class $\Sigma_n(\lambda, A, B)$; then

$$-z^2(I^n f(z))' < Q(z) < \frac{1+Az}{1+Bz} \quad (z \in U), \tag{3.1}$$

where the function $Q(z)$ given by

$$Q(z) = \begin{cases} \frac{A}{B} + \left(1 - \frac{A}{B}\right)(1+Bz)^{-1} {}_2F_1\left(1, 1, \frac{1}{\lambda} + 1; \frac{Bz}{Bz+1}\right) & (B \neq 0) \\ 1 + \frac{1}{1+\lambda}Az & (B = 0), \end{cases}$$

is the best dominant of (3.1). Furthermore,

$$\operatorname{Re}\{z^2(I^n f(z))'\} > \rho \quad (z \in U), \tag{3.2}$$

where

$$\rho(\lambda, A, B) = \begin{cases} \frac{A}{B} + \left(1 - \frac{A}{B}\right)(1-B)^{-1} {}_2F_1\left(1, 1, \frac{1}{\lambda} + 1; \frac{B}{B-1}\right) & (B \neq 0) \\ 1 - \frac{1}{1+\lambda}A & (B = 0). \end{cases}$$

The result is best possible.

Proof. Set

$$\phi(z) = -z^2(I^n f(z))' \quad (z \in U). \tag{3.3}$$

Then the function $\phi(z)$ is analytic in U with $\phi(0) = 1$. Differentiating (3.3) and with the aid of the identity (1.4), we get

$$-z^2(I^{n+1}f(z))' = z\phi'(z) - \phi(z) + 2.$$

Now by (1.5), we get

$$-z^2\{(1+\lambda)(I^n f(z))' + \lambda(I^{n+1}f(z))'\} - 2\lambda = \phi(z) + \lambda z\phi'(z) < \frac{1+Az}{1+Bz} \quad (z \in U). \tag{3.4}$$

Now, by using Lemma 1 for $\gamma = \frac{1}{\lambda}$, we deduce that

$$\begin{aligned} \phi(z) < Q(z) &= \frac{1}{\lambda}z^{-\frac{1}{\lambda}} \int_0^z t^{\frac{1}{\lambda}-1} \left(\frac{1+At}{1+Bt}\right) dt \\ &= \begin{cases} \frac{A}{B} + \left(1 - \frac{A}{B}\right)(1+Bz)^{-1} {}_2F_1\left(1, 1, \frac{1}{\lambda} + 1; \frac{Bz}{Bz+1}\right) & (B \neq 0) \\ 1 + \frac{1}{1+\lambda}Az & (B = 0), \end{cases} \end{aligned}$$

by a change of variables followed by the use of identities (2.3) and (2.4) (with $a = 1, b = \frac{1}{\lambda}, c = b + 1$).

This proves the assertion (3.1) of Theorem 1.

Next, to prove the assertion (3.2) of Theorem 1, it suffices to show that

$$\inf_{|z|<1} \{\operatorname{Re}(Q(z))\} = Q(-1). \tag{3.5}$$

Indeed, for $|z| \leq r < 1$,

$$\operatorname{Re}\left(\frac{1+Az}{1+Bz}\right) \geq \frac{1-Ar}{1-Br}.$$

Setting

$$G(s, z) = \frac{1 + Asz}{1 + Bs z} \quad \text{and} \quad d\mu(s) = \frac{1}{\lambda} s^{\frac{1}{\lambda}-1} ds \quad (0 \leq s \leq 1),$$

which is a positive measure on $[0, 1]$, we get

$$Q(z) = \int_0^1 G(s, z) d\mu(s),$$

and so

$$\operatorname{Re}(Q(z)) \geq \int_0^1 \frac{1 - Asr}{1 - Bs r} d\mu(s) = Q(-r) \quad (|z| \leq r < 1).$$

Letting $r \rightarrow 1^-$ in the above inequality, we obtain the assertion (3.5). The result in (3.2) is best possible as the function $Q(z)$ is the best dominant of (3.1). \square

Remark 1. The left hand side of (1.5) is equivalent to

$$-z^2 \left\{ \lambda z (I^n f)'' + (1 + 2\lambda)(I^n f)' \right\}$$

so (1.5) is equivalent to

$$-z^2 \left\{ \lambda z (I^n f)'' + (1 + 2\lambda)(I^n f)' \right\} < \frac{1 + Az}{1 + Bz} \quad (z \in U). \tag{3.6}$$

Now putting $\lambda = \frac{\sigma}{1-2\sigma}$ ($0 < \sigma < \frac{1}{2}$) in Theorem 1, we get the following result:

Corollary 1. If $f(z) \in \Sigma$ satisfies

$$\frac{-z^2 \left[(I^n f)' + \sigma z (I^n f)'' \right]}{1 - 2\sigma} < \frac{1 + Az}{1 + Bz} \quad (z \in U), \tag{3.7}$$

then

$$-z^2 (I^n f(z))' < Q(z) < \frac{1 + Az}{1 + Bz} \quad (z \in U), \tag{3.8}$$

where the function $Q(z)$ given by

$$Q(z) = \begin{cases} \frac{A}{B} + \left(1 - \frac{A}{B}\right) (1 + Bz)^{-1} {}_2F_1 \left(1, 1, \frac{1 - \sigma}{\sigma}, \frac{Bz}{Bz + 1}\right) & (B \neq 0) \\ 1 - \frac{1 - 2\sigma}{1 - \sigma} Az & (B = 0), \end{cases}$$

is the best dominant of (3.1). Furthermore,

$$\operatorname{Re} \left(-z^2 (I^n f(z))' \right) > \rho \quad (z \in U), \tag{3.9}$$

where

$$\rho(\lambda, A, B) = \begin{cases} \frac{A}{B} + \left(1 - \frac{A}{B}\right) (1 - B)^{-1} {}_2F_1 \left(1, 1, \frac{1 - \sigma}{\sigma}, \frac{B}{B - 1}\right) & (B \neq 0), \\ 1 - \frac{1 - 2\sigma}{\sigma} A & (B = 0). \end{cases} \tag{3.10}$$

The result is best possible.

Taking $A = 1 - 2\delta$ ($0 \leq \delta < 1$), $B = -1$ and $\lambda = 1$ in Theorem 1, we have:

Corollary 2. If $f(z) \in \Sigma$ satisfies the following inequality:

$$\operatorname{Re} \left\{ -z^2 \left[3(I^n f(z))' + z(I^n f(z))'' \right] \right\} > \delta \quad (0 \leq \delta < 1; z \in U),$$

then

$$\operatorname{Re} \left\{ -z^2 (I^n f)' \right\} > 1 + 2(1 - \delta) (\ln 2 - 1) \quad (z \in U). \quad (3.11)$$

The result is best possible.

Taking $A = 1 - 2\delta$ ($0 \leq \delta < 1$), $B = -1$ and $\lambda = 2$ in Theorem 1, and using (2.5) we have:

Corollary 3. If $f(z) \in \Sigma$ satisfies the following inequality:

$$\operatorname{Re} \left\{ -z^2 \left[5(I^n f(z))' + 2z(I^n f(z))'' \right] \right\} > -\frac{(\pi - 2)}{4 - \pi} \quad (3.12)$$

then

$$\operatorname{Re} \left\{ -z^2 (I^n f)' \right\} > 0. \quad (3.13)$$

The result is best possible.

Theorem 2. If $f(z) \in \Sigma$ satisfies

$$z \left\{ (1 + \lambda)I^n f(z) + \lambda I^{n+1} f(z) \right\} - 2\lambda < \frac{1 + Az}{1 + Bz} \quad (z \in U), \quad (3.14)$$

then

$$z I^n f(z) < Q(z) < \frac{1 + Az}{1 + Bz} \quad (z \in U),$$

and

$$\operatorname{Re}(z I^n f(z)) > \rho \quad (z \in U),$$

where Q and ρ are given as in Theorem 1. The result is best possible.

Proof. Replace $\phi(z)$ by $z I^n f(z)$ in (3.3) and follow the lines of the proof of Theorem 1. \square

Theorem 3. Let $-1 \leq B_j < A_j \leq 1$ ($j = 1, 2$). If each of the functions $f_j(z) \in \Sigma$ satisfies the following subordination condition:

$$z \left\{ (1 + \lambda)I^n f_j(z) + \lambda I^{n+1} f_j(z) \right\} - 2\lambda < \frac{1 + A_j z}{1 + B_j z} \quad (j = 1, 2; z \in U) \quad (3.15)$$

and if $f(z) \in \Sigma$ is defined by

$$I^n f(z) = I^n f_1(z) * I^n f_2(z) \quad (3.16)$$

then

$$\operatorname{Re} \left\{ (1 + \lambda)z I^n f(z) + \lambda z I^{n+1} f(z) - 2\lambda \right\} > \gamma, \quad (3.17)$$

where

$$\gamma = 1 - \frac{4(A_1 - B_1)(A_2 - B_2)}{(1 - B_1)(1 - B_2)} \left[1 - \frac{1}{2} {}_2F_1 \left(1, 1, \frac{1}{\lambda} + 1; \frac{1}{2} \right) \right].$$

The result is best possible when $B_1 = B_2 = -1$.

Proof. Suppose that each of the functions $f_j(z) \in \Sigma$ ($j = 1, 2$) satisfies the condition (3.15). Then, on letting

$$\varphi_j(z) = (1 + \lambda)z I^n f_j(z) + \lambda z I^{n+1} f_j(z) - 2\lambda \quad (j = 1, 2) \quad (3.18)$$

we have

$$\varphi_j(z) \in P(\gamma_j) \left(\gamma_j = \frac{1 - A_j}{1 - B_j}, j = 1, 2 \right).$$

From (3.18), we have

$$I^n f_j(z) = \frac{1}{\lambda} z^{-\frac{1}{\lambda}} \int_0^z t^{\frac{1}{\lambda}-1} \varphi_j(t) dt \quad (j = 1, 2). \quad (3.19)$$

Now if $f(z) \in \Sigma$ is defined by (3.16), we find from (3.19) that

$$\begin{aligned} I^n f(z) &= I^n f_1(z) * I^n f_2(z) \\ &= \left(\frac{1}{\lambda} z^{\frac{-1}{\lambda}} \int_0^z t^{\frac{1}{\lambda}-1} \varphi_1(t) dt \right) * \left(\frac{1}{\lambda} z^{\frac{-1}{\lambda}} \int_0^z t^{\frac{1}{\lambda}-1} \varphi_2(t) dt \right) \\ &= \frac{1}{\lambda} z^{\frac{-1}{\lambda}} \int_0^z t^{\frac{1}{\lambda}-1} \varphi_0(t) dt, \end{aligned} \tag{3.20}$$

where

$$\varphi_0(t) = \frac{1}{\lambda} z^{\frac{-1}{\lambda}} \int_0^z t^{\frac{1}{\lambda}-1} (\varphi_1 * \varphi_2)(t) dt. \tag{3.21}$$

Since $\varphi_1(z) \in P(\gamma_1)$ and $\varphi_2(z) \in P(\gamma_2)$, it follows from Lemma 3 that

$$(\varphi_1 * \varphi_2)(z) \in P(\gamma_3) \quad (\gamma_3 = 1 - 2(1 - \gamma_1)(1 - \gamma_2)). \tag{3.22}$$

According to Lemma 2, we have

$$\operatorname{Re}(\varphi_1 * \varphi_2)(z) \geq \gamma_3 + (1 - \gamma_3) \frac{1 - |z|}{1 + |z|} = (2\gamma_3 - 1) + \frac{2(1 - \gamma_3)}{1 + |z|}. \tag{3.23}$$

Now on using (3.23) in (3.21), we get

$$\begin{aligned} \operatorname{Re} \{ (1 + \lambda) z I^n f(z) + \lambda z I^{n+1} f(z) - 2\lambda \} &= \operatorname{Re}(\varphi_0(z)) \\ &= \frac{1}{\lambda} \int_0^1 u^{\frac{1}{\lambda}-1} \operatorname{Re} \{ (\varphi_1 * \varphi_2)(uz) \} du \\ &\geq \frac{1}{\lambda} \int_0^1 u^{\frac{1}{\lambda}-1} \left(2\gamma_3 - 1 + \frac{2(1 - \gamma_3)}{1 + u|z|} \right) du \\ &> \frac{1}{\lambda} \int_0^1 u^{\frac{1}{\lambda}-1} \left(2\gamma_3 - 1 + \frac{2(1 - \gamma_3)}{1 + u} \right) du \\ &= 1 - \frac{4(A_1 - B_1)(A_2 - B_2)}{(1 - B_1)(1 - B_2)} \left[1 - \frac{1}{\lambda} \int_0^1 u^{\frac{1}{\lambda}-1} (1 + u)^{-1} du \right] \\ &= 1 - \frac{4(A_1 - B_1)(A_2 - B_2)}{(1 - B_1)(1 - B_2)} \left[1 - \frac{1}{2} {}_2F_1 \left(1, 1; \frac{1}{\lambda} + 1, \frac{1}{2} \right) \right] \\ &= \gamma \quad (z \in U), \end{aligned}$$

where $2\gamma_3 - 1 = 1 - 4 \left(\frac{A_1 - B_1}{1 - B_1} \right) \left(\frac{A_2 - B_2}{1 - B_2} \right)$ and $2(1 - \gamma_3) = 4 \left(\frac{A_1 - B_1}{1 - B_1} \right) \left(\frac{A_2 - B_2}{1 - B_2} \right)$ which completes the proof of assertion (3.17).

For $B_1 = B_2 = -1$, we consider the functions $f_j(z) \in \Sigma$ ($j = 1, 2$) defined by

$$I^n f_j(z) = \frac{1}{\lambda} z^{\frac{-1}{\lambda}} \int_0^z t^{\frac{1}{\lambda}-1} \left(\frac{1 + A_j t}{1 - t} \right) dt \quad (j = 1, 2)$$

for which we have

$$\varphi_j(z) = (1 + \lambda) z I^n f_j(z) + \lambda z I^{n+1} f_j(z) - 2\lambda = \frac{1 + A_j z}{1 - z} \quad (j = 1, 2)$$

and

$$\begin{aligned} (\varphi_1 * \varphi_2)(z) &= \left(\frac{1 + A_1 z}{1 - z} \right) * \left(\frac{1 + A_2 z}{1 - z} \right) \\ &= 1 + \frac{(1 + A_1)(1 + A_2)z}{1 - z}. \end{aligned}$$

Hence, for $f(z) \in \Sigma$ given by (3.16), we obtain

$$\begin{aligned} \{ (1 + \lambda) z I^n f(z) + \lambda z I^{n+1} f(z) - 2\lambda \} &= \varphi_0(z) \\ &= \frac{1}{\lambda} \int_0^1 u^{\frac{1}{\lambda}-1} \left(1 - (1 + A_1)(1 + A_2) + \frac{(1 + A_1)(1 + A_2)}{1 - uz} \right) du \end{aligned}$$

$$\begin{aligned}
&= 1 - (1 + A_1)(1 + A_2) + (1 + A_1)(1 + A_2)(1 - z)^{-1} {}_2F_1\left(1, 1, \frac{1}{\lambda} + 1, \frac{z}{z-1}\right) \\
&\rightarrow 1 - (1 + A_1)(1 + A_2) + \frac{1}{2}(1 + A_1)(1 + A_2) {}_2F_1\left(1, 1, \frac{1}{\lambda} + 1; \frac{1}{2}\right) \\
&\text{as } z \rightarrow -1
\end{aligned}$$

which evidently completes the proof of **Theorem 3**. \square

Letting $A_j = 1 - \eta_j$, $B_j = -1$ ($j = 1, 2$) and $\tau = \lambda$ in **Theorem 3**, we get the following result.

Corollary 4. *If $f(z) \in \Sigma$ satisfies*

$$z \left\{ (1 + \tau)(I^n f_j(z)) + \tau z (I^n f_j(z))' \right\} > \eta_j \quad (j = 1, 2, z \in U),$$

then

$$\operatorname{Re} \left\{ (1 + \tau)z(I^n f_1(z) * I^n f_2(z)) + \tau z(I^n f_1(z) * I^n f_2(z))' \right\} > \gamma, \quad (3.24)$$

where

$$\gamma = 1 - 4(1 - \eta_1)(1 - \eta_2) \left[1 - \frac{1}{2} {}_2F_1\left(1, 1, \frac{1}{\tau} + 1, \frac{1}{2}\right) \right].$$

Remark 2. The technique used in this work is similar to that used by Lashin [8].

References

- [1] B.A. Frasin, M. Darus, On certain meromorphic functions with positive coefficients, *Southeast. Asian Bull. Math.* 28 (2004) 615–623.
- [2] R.M. El-Ashwah, M.K. Aouf, Hadamard product of certain meromorphic starlike and convex functions, *Comput. Math. Appl.* 57 (2009) 1102–1106.
- [3] D.J. Hallenbeck, St. Ruscheweyh, Subordination by convex functions, *Proc. Amer. Math. Soc.* 52 (1975) 191–195.
- [4] S.S. Miller, P.T. Mocanu, *Differential Subordinations: Theory and Applications*, in: Series on Monographs and Textbooks in Pure and Applied Mathematics, Vol. 225, Marcel Dekker, New York and Basel, 2000.
- [5] T.H. MacGregor, Functions whose derivative has a positive real part, *Trans. Amer. Math. Soc.* 104 (1962) 532–537.
- [6] J. Stankiewicz, Z. Stankiewicz, Some applications of the Hadamard convolution in the theory of functions, *Ann. Univ. Mariae Curie-Sklodowska Sect. A* 40 (1986) 251–265.
- [7] E.T. Whittaker, G.N. Watson, *A Course on Modern Analysis: An Introduction to the General Theory of Infinite Processes and of Analytic Functions; With an Account of the Principal Transcendental Functions*, Fourth ed., Cambridge University Press, Cambridge, 1927 (Reprinted).
- [8] A.Y. Lashin, On certain subclasses of meromorphic functions associated with certain integral operators, *Comput. Math. Appl.* 59 (2010) 524–531.